
 

 SFUSA®  
Black Panel Hardware 

Black Mid Clamp 
(Standard Non-Bonding) 

 

1142 River Road, New Castle, DE 19720   |   Phone (855) 738-7200   |   Fax (866) 644-5665   |   www.solarfoundationsusa.com 
© Solar Foundations USA®, All Rights Reserved 

 

     

Item 
Number 

Part 
Number 

Description Material Finish 

1 BMC Black Standard Module Mid Clamp Aluminum 6063 – T6 Black Anodized 

2 BKLOCK Black K-Lock Nut (1/4-20) 
300 Series Stainless 

Steel 
Black Oxide 

3 T2.00 SFUSA T-Head Bolt, 2.00” Long (1/4-20) 

300 Series Stainless Steel 
4 T2.25 SFUSA T-Head Bolt, 2.25” Long (1/4-20) 

5 T2.50 SFUSA T-Head Bolt, 2.50” Long (1/4-20) 

6 T2.75 SFUSA T-Head Bolt, 2.75” Long (1/4-20) 

 

2 

1 

3 through 6 


